Use your TI-89 to factor the following.  Write the answer on the paper. Answer the reflective questions at the end. 

	1.  4x2-10x
	2.  7xy2+70x2y



	3.  12x5-36x2+24x
	4. 15x2y2+3xy-5



	5.  t2-81
	6.  16y2-49



	7.  x4-y4
	8.  9t2+16



	9. 18z2-2
	10. 25y2+100

  

	11.  x4-625
	12.  x2-18x+81



	13.  t2+2ty+y2
	14. t4+18t2+81



	15.  z2-16z+64
	16. t2+5t+6



	17. t6-y4
	18.  t3+27



	19.  y3-8
	20.  y3-125



	21. t3+1000
	22. t2+25



	23.4z2+49
	24. x2+2xy+y2



	25.  x2+7x+12
	26.  x2-8x+15



	27.  x2+9x-10
	28. x2-6x-16



	29.  y2+18y+81
	30.  t4+12t2+36



	31.  z2-4z+4
	32. z4-18z2y2+81y4



	33.  3t2-14t+8
	34.  10y2+19y+7



	35.  6z2-13z-8
	36.  2t2-21t+40



	37.  6t2+11t+4
	38.  10y2-3ty-4t2



	39. 5t2-24t-5
	40.  3y2-5y-2



	41.  4z2-13z+3
	42.  x2-7x+1



	43.  5x2+3x+11
	44. 2x2-4x-3



	
	


1. How does factoring relate to multiplying polynomials?

2. How do the exponents of the factors relate to the exponents of the original polynomials?

3. When were your factors two binomials?

4. When were these binomials similar?

5. When were they exactly the same?

6. Specifically describe the cases where your factors were something other than two binomials.

7. What are the characteristics of polynomials which do not factor?
8. Are there relationships between the signs of the factors and the signs of the polynomials?
